Thanksgiving Sudoku Puzzle

FILL THE EMPTY CELLS IN THE GRID WITH THE DIGITS 1 TO 6.
EACH NUMBER MAY ONLY APPEAR ONCE IN A ROW, COLUMN
OR REGION. (3 BY 2 BLOCK).

3 .45 6
2 |6 5
6 |53
6 15|2
2 416
3 2 (1 6 1 2|3
L1 |5 2 511
2 6 5 6 |1
1 216
2 415 1 |1 3 2
512 6 6 |1 5
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Answers

FILL THE EMPTY CELLS IN THE GRID WITH THE DIGITS 1 TO 6.
EACH NUMBER MAY ONLY APPEAR ONCE IN A ROW, COLUMN
OR REGION. (3 BY 2 BLOCK).

304501162
206 1141315
1214|653
61532114
413165211
5111213146
3(5(2|1]6]4 611154 23
6141352 2143|5116
41213161115 5161|234
5116423 413121651
2164|531 [1]5/4]|3]6]2
113/5]21]4]6 3121611415
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